


YyeHukam 2umHa3suu Ne5 om
npogeccopa UupupkuHa

3asi

6 anpeJsisi ceac
KabuHema uc4yes

MamemMamu4eck
llpowy npuHs
pO3bICKa 3Mmo2o O
yeaxxeHueM rpogec
LHugupKuH. T




3agaHue Nol Pa3ragaTb Ha3BaHUE
obObekKkTa

1)5a:(-7)= -35a
2)-3-(-a)= 3a
3)-20:(-0,5x)-m=10m
4)-0,5ab-2=-1ab=-ab
5)12x+(-1/12 y)=-1xy=-xy
6)-6m-(-5n)'0=0mn=0
7)-4x-(-2)=8x
8)-3a+(-2x)-5=30ax
9)-3xy-(-5)-(-2k)=-30xyk
10)2 ¥ a-2/5 x=1ax=ax
11)-2m-(0,5 n)-9a=-9mn







2 3apaHue: YnpocTuTe

Bblpa)XeHue

1)3:-a-:8=24a
2)-6 - c ‘' (-4)24c
3)48 ' y0,5= 24y
4)1 ab= ab
5) -x(-y)= Xy
6) a(-c)= -ac
7)-3 'x - 10=-30x
8)-50 ‘mn ' 0,6= -30mn
9)4,5xy ' 2= 9xy

10)3b '3c= 9bc

11) ac ‘9= 9Yac

12) xy '‘0=0xy$







Penakcauus




3anaHue No4 YcTaHOBUTL

1)YcTaHOBUTb, Kakoe
yucno.

A) 1)-1,5; 2) 15; 3)-15

ABIIAETCH

Ko3adhpULMEeHTOM : :
AaHHOro -3x 0,5y - 10

BblpaXXeHus :

B) 1)-30; 2)300; 3)-300 6y(-0,5)x - 100

B) 1)20; 2)-0,2; 3)-20 -4a " 0,5b - 10

2) HamauTe P
KoadphbuUneHTbI B A) 5x6=-30
YPaBHEHUM U peLunTe B )-5x - 6=30

0 B)-5x : (-6)=30




[lpoBepKa

irp. A)-15
2rp.b)-300
3rp.B)-20




JKcnepTu3la (Tecrt)
e 3agaHue No5 TecT 2. BepHo nun

* 1. YrpocTtuTe %%W

BblpaXkeHne HeT)
onpegenuTe u a) koachpuuneHT

NOYEPKHUTE BblpaXXeHUs1 an paBeH
HYIHO

KOS PULINEHTBI:
1) -3 - (-7¢) - 4p 6) pa3HoCTb

kKo3achdunumneHToB
A) 65cp b)84cp BbIPpaXXeHn 3X 1 5X

B)72cp paBHa -2

4 2) '2,4m y (‘3,2) r 5,5 B) cyMMa

A)42,24 B)-4,24 ko3 dunumneHToB
B)35,2 BblpaxeHuu 37X u 53x




[TpoBepka TecTa (nogcyeT
bannos)




[lomaluHee 3agaHue

e 1/3 nN.40
npaswurno,

e |- Ne1275 (a, B, T,
A,)

e |I- N21275(e,X,3)
Ne1277a,

e [11-N21275(u,K),
Ne1277a, N21280

e CeBepHbIN




Pednekcus

CeroaHsl Ha}
°f1 y3Han...
Al NoHAN..
oAl cMOT...







